THRISEE

B LTI HKE
b5 2, zPuk=3c — CODEHR |B(H#H) XEHK
) St.1 ER-BER I EEA) M50 EE
—i%IEH _
K& (°C)
1 X [SsECC) =B fE 2 KE FERE i =Xz B&
58 £ 21.3 20.8 20.4 9.7 6.0 BE k- &R
78 £ 26.6 26.4 25.9 8.7 6.0 BE x| &R
9A Fh 30.4 29.4 29.6 9.0 5.5 B x| &R
118 R A 8.8 228 224 9.4 5.0 B x| &R
18 Fh 4.6 15.9 15.5 9.6 95 BE kaf-h| &S
38 Eh 4.0 14.5 13.6 9.4 5.0 B B - |
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EElE| 7.8~83] 50LLE | 30LLF — FERH 0.3LLF | 0.03LLF
EHE(75%ME) - 7.6 1.5(1.7) - <0.5 0.19 0.034
58 =B 8.2 9.0 1.7 - <0.5 0.24 0.023
th[E 8.1 8.1 1.4 - <0.5 - -
=B 8.2 6.9 1.9 - <0.5 - -
A th[E 8.2 6.7 1.7 - <0.5 - -
oF =B 8.1 6.2 1.6 - <0.5 0.20 0.033
th[E 8.2 6.6 1.6 - <0.5 - -
158 =B 8.2 6.3 1.1 - <0.5 0.11 0.035
th[E 8.2 6.8 1.3 - <0.5 - -
=B 8.2 8.6 0.7 - <0.5 - -
1A th[E 8.2 8.4 0.9 - <0.5 - -
3g =B 8.2 8.6 2.0 - <0.5 0.22 0.045
thE 8.2 8.6 2.3 - <0.5 - -
BEEEH(RBOAEA)
LIS INIESD P E ANEo0OL TS fikéR |7L¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JEtRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1Bl <0.002 - <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
vonnoi | miEk [1,2-0900( 1,1-Syaa [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | AIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <o0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
1Bl <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fh5490n(1,3-o40 = St FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001LLF | 001LLF 10LLF
E{E]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
58 - - - - - - - -
7Bl <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
9A - - - - - - - -
118 — — — — — — — —
18] <o0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
38 - - - - - - - -
ZTDhIFH
RV L
Jx/—) 7] SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 2 = = =
=B - - <1 - - -
5H ;E _ _ .I _ _ _
—_ —_ 2 —_ —_ —_
—_ —_ 1 —_ —_ —_
—_ —_ 1 —_ —_ —_
1
—_ —_ 1 —_ —_ —_
1
—_ —_ 2 —_ —_ —_
3
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
E¥E] 19000 <0.01 0.02
585 == 18000 - 0.02
B 18000 - -
78 == 18000 <0.01 —
B 18000 - -
90 == 20000 — 0.02
B 19000 - -
1A == 21000 — 0.02
] 20000 — —
18 == 19000 <0.01 —
B 19000 - -
35 == 18000 — 0.01
B 18000 - -



THRISEE

A L C LK
M0 COD¥ER! | AHENR) PRy 3c
]]
BRE St.2 mE ER-MEB O (B R) HilZEis
—iRI5H _
7Kim (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin =Xz R
58 £ 21.3 20.4 20.6 13.0 11.5 BE Tkt #|E
78| =Y 31.7 26.6 26.3 13.4 8.0 B Eixta-tp| ®ER
94 Eh 28.6 29.7 29.6 13.5 8.0 BE Exkfa-h| &R
118 R A 12.5 22.9 22.6 18.4 5.5 BE Exfa-h| &R
18 gEh 7.6 16.1 16.7 17.8 16.0 BE kER-h| &|R
3R Eh 5.4 15.3 14.8 18.3 9.5 EE xEfR-th| |S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
EHE(75%IE) - 7.3 1.2(1.5) - <0.5 0.17 0.030
585 == 8.1 7.7 1.1 = <0.5 0.18 0.016
th & 8.2 7.8 1.1 - <0.5 - -
785 =B 8.2 7.6 1.1 - <0.5 - -
th & 8.3 7.7 15 - <0.5 - -
oF =B 8.2 6.3 15 - <0.5 0.14 0.019
th & 8.2 6.7 1.4 - <0.5 - -
18 =B 8.2 6.1 1.2 - <0.5 0.16 0.034
th & 8.2 6.4 1.1 - <0.5 - -
18 =B 8.2 7.8 0.6 - <0.5 - -
th & 8.1 7.9 0.7 - <0.5 - -
35 =B 8.2 7.8 15 - <0.5 0.19 0.049
B 8.2 7.9 1.7 - <0.5 - -
BEEIER (REDAHA
NP INIESDY & ED Ao L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEH [ 0018LF [ 0058LF | 001LLF [0.0005LLF | FE#EH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
718 - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
1Al - - - - - - - -
38 - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|[1,1,1-M)H0] 1,12-ry4a | F)S00
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
718 - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
1Al - - - - - - - -
38 - - - - - - - -




FrS40a|1,3-4n — . s
13Ls |ogacy| FoIL | vrOY ?ﬁ’]}'l:;’ RyEy | tLy  |rmner
(mg/1) (mg/1) (mg/1) (mg/1) (mg/

; / ‘ i g/1) (mg/1) (mg/1) (mg/1)
_%iﬁ 0.01 _L_i‘F 0.00iu'F o.ooeibg]s o.oogvg'F 0.02LLF | 0.01LLF | 0.01LLF 10'&;]5
— - - - = = = =

7:1 - - - - - - - -

9B - = - - - - - -

A - . = = n - - -

Bl - - - - - - - -

sAl - = = = . = = -
ZOMEE

Ix/—IL i SS LW |rookiLL Tﬁ’_‘_’r,ﬁp
TEE (m%/ 1) (m%/ 1) (m%/ 1) (mg/1) (mg/1) (mg/1)
28 [ - = = =

5 <1 - =

7 - - 1 - - -

9 - - 1 - - -

11 - - 2 = - -
1 - - 1 - - -
38 - - ‘ - - -
HE - = 1 - - -
fi‘ﬁ@ iggﬁ U B
(mg/1) (mg/1) (mg/1)
EHTE] 19000 % ?'.%1
5A EE] 19000 - 0.01
T8 19000 - -
7R EE 18000 - —
th 8 19000 - —
oF =B 19000 - 0.01
b= 20000 - -
A =B 19000 - 0.02
b= 20000 - -
‘A EE 19000 - —
th 8 19000 - —
3 =B 19000 - 0.01
B 19000 - -



THISEE

B LTI HKE
b5 2, zpnk:3c) — CODEHR |B(H#H) HiEAEX
" St.3 ER-HER I EES) =:pub3c
—i%IEH _
K& (°C)
_ BEEE KR (°C) =B fE 2 KE FERE ;mﬂ =Xz B&
58 £ 21.3 20.6 20.8 9.7 8.5 BE k- &R
78 £ 28.8 25.6 25.9 8.1 75 BE SEf-h |
9A Fh 29.0 29.3 29.3 9.8 8.0 B Exf-h| &R
118 RS 10.6 22.8 22.8 8.4 5.0 BE SEf-h mR
18 Fh 5.5 14.9 15.6 7.7 7.7 BE kaf-h| &S
38 Eh 4.1 14.9 14.8 8.4 8.4 B Sef-h |
4RIRIRIBER _ _
oH DO CcOoD KIGERY In-~FHoH 22F Ey
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 7.8~83] 50LLE | 30LLF — FERH 0.3LLF | 0.03LLF
EHE(75%E) - 7.5 1.4(1.5) - <0.5 0.24 0.031
58 =B 8.2 7.9 14 - <0.5 0.27 0.015
th[E 8.2 8.0 1.0 - <0.5 - -
78 =B 8.1 6.9 2.0 - <0.5 - -
th[E 8.2 74 1.3 - <0.5 - -
oF =B 8.2 7.0 15 - <0.5 0.15 0.019
th[E 8.2 7.2 1.3 - <0.5 - -
158 =B 8.2 6.7 1.1 - <0.5 0.10 0.029
th[E 8.2 6.9 1.0 - <0.5 - -
18 =B 8.2 8.4 0.9 - <0.5 - -
th[E 8.2 8.4 1.2 - <0.5 - -
3g =B 8.1 7.2 26 - <0.5 0.44 0.059
thE 8.2 8.2 1.7 - <0.5 - -
BEEB (REBDHEHHA)
LININIESD P E ANEo0OL TS fikER |7L¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H [ 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JERRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
58 - - - - - - - -
78| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1Bl <0.002 - <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
vonoi | miEk [1,2->900( 1,1-Syaa |Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
1Bl <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fh540n(1,3->4n = N FARY T . BRMERERU
IFLy |pzaxy| FI34L | vIPY LI _RyEy LY ERRMER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H ] 001LLF [0.00280F [ 0.006LLF [ 0.003LLF | 0.02L8LF | 001ELF | 001LLF | 10LLF
EHE]  <0.001 | <0.0002 | _<0.0006 <0.0003 <0.002 <0.001 <0.001 0.27
5H - - - - - - - -
78] <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 051
oAl - - - - - - - -
118 - - - - - - - -
18] <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.03
3R - - - - - - - -
ZTDHIEE
A
7z/—) gl SS SEHR | JOOFRIVL| 5 ok
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE] - - 1 - - -
=RE - - <1 - - -
=E - - 1 - - -
—_ —_ 1 —_ —_ —_
gﬁ ;E _ _ -I _ — —
—_ —_ ‘I —_ —_ —_
—_ —_ ‘I —_ —_ —_
A Tem [ - < - - -
=E - - 1 - - -
3
Eie HIHEME . .
(mg/1) (mg/1) (mg/1)
EHIE] 18000 <0.01 0.02
5 =E 18000 - 0.01
hE 18000 - -
78 =B 14000 <0.01 -
hE 19000 - -
of =B 19000 - 0.01
B 20000 - -
118 =B 18000 - 0.01
B 20000 - -
e x[E 19000 <0.01 -
hE 19000 - -
g x[E 16000 - 0.03
8 18000 — —



THRISEE

B LTI HKE
Dt ] bi- A5 EiE
S L CODEH! A(J;-.g%,m) m;‘_.%fw
St4 ER-MEB O (EER) Hi0ZEE
—iRI5H _
K& (°C)
1 X [SsECC) =B fE 2 KE FERE Fiin 18 R
58 £ 21.3 20.7 20.7 8.3 8.3 BE kER-th| &|R
718 1)) 26.8 26.1 26.1 7.2 7.2 BE Exkfa-h| &R
94 Eh 29.1 29.6 29.5 7.7 7.7 BE Exkfa-h| &R
118 B 10.8 22.9 22.4 8.2 5.0 BE Exfa-h| &R
18 Eh 6.3 16.8 15.9 8.7 8.7 BE kER-h| &|R
38 Eh 4.8 15.8 14.8 8.4 8.4 EE xEfR-th| |S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
B (75%IE) - 7.8 1.3(1.5) 3.3 <0.5 0.12 0.021
58 == 8.2 8.0 0.9 - <0.5 0.14 0.013
th8 8.2 8.0 0.9 - <0.5 - -
78 == 8.3 8.8 1.4 45 <0.5 0.18 0.018
th8 8.3 8.4 1.4 - <0.5 - -
oF == 8.3 7.1 1.3 - <0.5 0.10 0.015
th8 8.2 7.0 1.7 - <0.5 - -
18 == 8.2 6.9 0.9 - <0.5 0.06 0.034
th8 8.2 6.6 1.0 - <0.5 - -
18 =B 8.2 8.0 0.7 2.0 <0.5 0.08 0.011
th8 8.2 8.0 0.7 - <0.5 - -
3g == 8.2 8.1 1.4 - <0.5 0.15 0.032
thE 8.2 8.1 1.8 - <0.5 - -
BEEE (REBDHEHA)
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF | JE#EH | 0018 F | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1B] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
"y &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
1B] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




T39O0 |1,3-S450 = [N FARY S . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001LLF | 001LLF 10LLF
E{E]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
58 - - - - - - - -
7Bl <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9A - - - - - - - -
118 — — — — — — — —
18] <o0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
38 - - - - - - - -
ZTNDhIEH
RV L
Jx/—) 7] SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 1 - - -
=B - - <1 - - -
5H ¢E _ _ <1 _ _ _
=E - - 1 - - -
—_ —_ <1 —_ —_ —_
—_ —_ 2 —_ —_ —_
1
—_ —_ <1 —_ —_ —_
A T aE - - G - - -
=E - - 1 - - -
3
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
E¥E] 19000 <0.01 0.01
585 == 19000 - 0.01
B 18000 — —
78 == 18000 <0.01 —
B 18000 — —
90 == 20000 — 0.01
] 20000 — —
1A == 19000 — 0.02
] 20000 — —
18 == 19000 <0.01 —
B 19000 — —
35 == 18000 — 0.01
B 18000 — —



THISEE

AL C LK
M0 COD¥ER! | A#ENSA) PR 3c
]]
BRE St.5 mE ER-MEB O (B R) HilZEis
—iRI5H _
7KiE (°C)
1 _XE [KE(CC) =E hE 2IKR A Fiin =X R
58] =Y 21.3 205 20.6 14.5 12.5 ke Fhxta-p| ®|E
718 £l 30.9 26.8 27.1 15.7 8.2 BE Exfa-h| &R
9A N 28.8 29.6 29.3 16.3 10.0 BE Exfa-h| &R
11A] REE 11.6 22.2 21.8 16.1 7.0 B Hixta-p| ®ER
18 N 7.3 16.0 16.4 16.2 13.5 BE kER-h| E|R
3A Eh 6.0 15.4 14.4 15.9 12.5 EE xEfR-th| |S
4FIRIEIER _ _
oH DO COD | XBEEM n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
EHE(75%IE) - 7.2 1.3(1.5) - <0.5 0.14 0.028
585 == 8.1 7.0 1.1 = <0.5 0.18 0.016
th & 8.1 7.5 1.1 - <0.5 - -
785 =B 8.2 6.9 1.3 - <0.5 - -
th & 8.2 6.9 15 - <0.5 - -
oF =B 8.2 6.9 15 - <0.5 0.15 0.024
th & 8.2 6.8 1.7 - <0.5 - -
18 =B 8.2 6.0 1.1 - <0.5 0.08 0.037
th & 8.2 6.5 1.1 - <0.5 - -
18 =B 8.2 7.9 0.7 - <0.5 - -
th & 8.2 8.1 0.7 - <0.5 - -
35 =B 8.2 8.1 15 - <0.5 0.13 0.035
B 8.2 8.1 1.8 - <0.5 - -
BEEE (REBDHEHA)
NP INIESY & & Ao L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LUF | FEH [ 001LLF [ 0058LF | 001LLF [0.0005L0F | FE#EH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
718 - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
1Al - - - - - - - -
38 - - - - - - - -
oyaoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay B®R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
718 - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
z] - - - - - - -
38 - - - - - - - -




7_'|‘57|:“:| 113_:’7D - > S 9" &~ S > ~
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| HXE{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EFEjE — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
Al - - - - - - - -
1Al - g g g g g g g
38 = = = = = = = =
ZTDhIEH
_ : A
Jx/—)L R SS 2% | r/oAkILLA FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EBIE] - - 1 - - -
=B - - <1 - - -
5ﬁ ;E _ _ <1 _ — —
—_ —_ ‘I —_ —_ —_
—_ —_ ‘I —_ —_ —_
—_ —_ 2 —_ —_ —_
3 - - ‘ - - -
A g — — 1 — — —
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EBTE] 19000 - 0.01
55 =B 19000 - 0.01
= 19000 - -
78 =B 20000 - -
= 20000 - -
98 =B 20000 - 0.01
= 19000 - -
118 =B 19000 - 0.02
= 19000 - -
18 =B 19000 - -
= 19000 - -
38 =B 19000 - 0.01
| 18000 - -




THRISEE

BA L CILHKE
M50 CODHR! |A(##BIE) Hi0EEE
]]
WA St.6 mE ZEXR-BER T (HBIR) H37Z &
—i%IEH _
K& (°C)
_ EE | SUE (°C) =B fE 2 KE A ;mﬂ 18 B&
58 =) 21.8 20.4 20.4 16.0 13.5 BE et - ms
78 £l 29.8 26.7 26.7 15.0 9.5 BE - |
98 Eh 28.7 295 29.4 15.3 9.0 BE SEf-h |
118 R EE 12.1 228 22.4 26.5 8.5 B kaf-h| &S
18 Eh 8.0 16.8 16.6 25.9 21.5 BE et - |
38 Eh 5.7 16.0 14.8 25.5 14.0 B Sef-h |
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RG] 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%ME) - 7.3 1.2(1.4) - <0.5 0.15 0.029
585 =B 8.1 7.1 1.3 - <0.5 0.27 0.026
B 8.1 7.0 1.1 - <0.5 - -
785 =B 8.2 7.0 1.3 - <0.5 - -
B 8.2 6.8 1.1 - <0.5 - -
oF =B 8.3 7.0 14 - <0.5 0.13 0.022
B 8.3 7.4 15 - <0.5 - -
18 =B 8.2 6.7 1.1 - <0.5 0.06 0.026
B 8.2 6.8 0.8 - <0.5 - -
18 =B 8.2 7.9 0.6 - <0.5 - -
B 8.2 7.9 0.7 - <0.5 - -
35 =B 8.2 8.1 15 - <0.5 0.14 0.041
B 8.2 8.1 1.6 - <0.5 - -
BEEB (RBDHAEHHA)
NI INIEDS ET) i f7 A=A T fikER |7L¥LKER| PCB
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLTF [ 005LLF | 001LLF [0.0005LLF | FEHEH JEtRH |
EF_EE — — — — — — — —
5H - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
3R - - - - - - - -
vonnoi | miEk [1,2->900( 1,1-Syaa [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | MO0
sy B THY IFLy | BAIFLY | OIAY Axsy | IFLY
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LLF 0.006LLF | 0.03LL'F
EF_EE — — — — — — — —
5H - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -




7_'|‘57|:||:| 1,3_:'7u _— > Y a: &~ S o So ~
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EFEjE — — — — — — — —
58 = = = = = = = =
18 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - —
ZTNDIBH
Jx/—)L & I L
ss £BH |[yAARLL| SRR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE : : : : £
=B - - < - - -
—_ —_ ‘I —_ —_ —_
—_ —_ ‘I —_ —_ —_
11 - - ! = = =
1 - - < - - -
3 - - ‘ - - -
A g — — 1 — — —
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EBTE] 19000 - 0.01
55 =B 19000 - 0.02
= 19000 - -
78 =B 19000 - -
= 19000 - -
98 =B 20000 - 0.01
= 20000 - -
118 =B 19000 - 0.01
= 20000 - -
18 =B 19000 - -
= 19000 - -
38 =B 19000 - 0.01
B | 18000 - -



THISEE

B LTI HKE
Dt ] bi- A5 EiE
S L CODEH! A(J;t%m) m;‘_.%fw
St.7 ER-MEB O (EER) Hi0EEE
—iRIEE _
K& (°C)
1 _XE [KE(CC) =E fE 2 KE A Fiin 18 R
58 =) 21.3 20.7 20.8 26.0 14.5 BE kEfR-th| &|R
78 £ 32.9 26.5 26.4 24.2 8.5 BE kER-h| E|R
9A N 28.8 28.3 28.1 25.8 13.5 BE Exkfa-h| ER
118 B 10.9 21.1 22.4 9.0 6.0 BE k-] &R
18 Eh 4.7 16.4 16.3 9.1 9.1 BE kER-h| E|R
38 Eh 5.8 15.4 14.6 8.9 8.0 EE xEfR-th| |S
4FIRIEIER _ _
oH DO COD | XBEEM n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
B (75%IE) - 7.7 1.2(1.6) 4.9 <0.5 0.12 0.020
585 == 8.1 7.8 0.8 - <0.5 0.17 0.018
th 8 8.1 7.7 0.8 - <0.5 - -
785 =B 8.2 7.5 1.4 2.0 <0.5 0.16 0.019
th & 8.2 7.8 15 - <0.5 - -
oF =B 8.3 7.7 1.1 - <0.5 0.10 0.011
th & 8.3 7.7 1.4 - <0.5 - -
18 =B 8.2 7.0 1.0 - <0.5 0.10 0.027
th & 8.2 6.9 1.0 - <0.5 - -
18 =B 8.2 8.1 0.7 7.8 <0.5 0.07 0.011
th & 8.2 8.0 0.7 - <0.5 - -
35 =B 8.2 7.9 1.3 - <0.5 0.14 0.035
thE 8.2 8.1 1.8 - <0.5 - -
BEEE (REBDHEHA)
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#(E] 001LLTF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 - <0.005 <0.02 0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
ook | mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




FhS5490n(1,3-450 = St FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #fE] 001LLTF [0.0020F [ 0.006LLF [ 0.003LLF | 0028LF [ 001LLF | 001LLF 10LLF
EfE]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
58 - - - - - - - -
78] <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
98 - - - - - - - -
118 - - - - - - - -
18] <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
38 - - - - - - - -
ZTDHIEE
IV L
Jx/—) R SS 2% |(snakiLh 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 1 - - -
=B - - <1 - - -
A o - - G - - -
=B - - 1 - - -
—_ —_ <1 —_ —_ —_
A Tom - - G - - -
=B - - 4 - - -
11
—_ —_ <1 —_ —_ —_
A T aE - - G - - -
=B - - 1 - - -
3
iy | EiNERM . .
(mg/1) (mg/1) (mg/1)
EHE] 19000 <0.01 0.01
585 == 19000 = 0.01
th[E 19000 - -
785 =B 19000 <0.01 -
th[E 19000 - -
oF =B 19000 - <0.01
th & 20000 - -
18 =B 18000 - 0.01
th[E 19000 - -
18 =B 19000 <0.01 -
th[E 19000 - -
35 =B 19000 - 0.01
thE 18000 - -



